

Berechne im **Kopf** (ohne TR)! **Beseitige** zuerst die **Zahlklammern**, bevor du das Ergebnis berechnest!

① $(+6) + (+2) = \dots\dots\dots = \dots\dots\dots$

$(+6) + (-2) = \dots\dots\dots = \dots\dots\dots$

$(-6) + (+2) = \dots\dots\dots = \dots\dots\dots$

$(-6) + (-2) = \dots\dots\dots = \dots\dots\dots$

$(+6) - (+2) = \dots\dots\dots = \dots\dots\dots$

$(+6) - (-2) = \dots\dots\dots = \dots\dots\dots$

$(-6) - (+2) = \dots\dots\dots = \dots\dots\dots$

$(-6) - (-2) = \dots\dots\dots = \dots\dots\dots$

② $(+2) - (+5) = \dots\dots\dots = \dots\dots\dots$

$(+2) - (-5) = \dots\dots\dots = \dots\dots\dots$

$(-2) - (+5) = \dots\dots\dots = \dots\dots\dots$

$(-2) - (-5) = \dots\dots\dots = \dots\dots\dots$

$(+2) + (+5) = \dots\dots\dots = \dots\dots\dots$

$(+2) + (-5) = \dots\dots\dots = \dots\dots\dots$

$(-2) + (+5) = \dots\dots\dots = \dots\dots\dots$

$(-2) + (-5) = \dots\dots\dots = \dots\dots\dots$

③ $(-3) + (+8) = \dots\dots\dots = \dots\dots\dots$

$(+4) - (-7) = \dots\dots\dots = \dots\dots\dots$

$(+6) + (-5) = \dots\dots\dots = \dots\dots\dots$

$(-8) - (+3) = \dots\dots\dots = \dots\dots\dots$

$(-5) + (-7) = \dots\dots\dots = \dots\dots\dots$

$(+4) - (+8) = \dots\dots\dots = \dots\dots\dots$

$(-9) + (+6) = \dots\dots\dots = \dots\dots\dots$

$(+7) - (-5) = \dots\dots\dots = \dots\dots\dots$

④ $(-7) - (+4) = \dots\dots\dots = \dots\dots\dots$

$(+5) + (+3) = \dots\dots\dots = \dots\dots\dots$

$(+2) - (-7) = \dots\dots\dots = \dots\dots\dots$

$(-6) + (-3) = \dots\dots\dots = \dots\dots\dots$

$(-2) - (-5) = \dots\dots\dots = \dots\dots\dots$

$(-3) + (+8) = \dots\dots\dots = \dots\dots\dots$

$(-7) - (+4) = \dots\dots\dots = \dots\dots\dots$

$(+4) + (-6) = \dots\dots\dots = \dots\dots\dots$

⑤ $(+7) - (-8) = \dots\dots\dots = \dots\dots\dots$

$(-9) + (-6) = \dots\dots\dots = \dots\dots\dots$

$(-8) - (+5) = \dots\dots\dots = \dots\dots\dots$

$(+7) + (+9) = \dots\dots\dots = \dots\dots\dots$

$(-6) - (-8) = \dots\dots\dots = \dots\dots\dots$

$(-5) + (+7) = \dots\dots\dots = \dots\dots\dots$

$(+6) - (+9) = \dots\dots\dots = \dots\dots\dots$

$(+7) + (-6) = \dots\dots\dots = \dots\dots\dots$

⑥ $(-7) + (+4) = \dots\dots\dots = \dots\dots\dots$

$(+9) - (-6) = \dots\dots\dots = \dots\dots\dots$

$(+5) + (+8) = \dots\dots\dots = \dots\dots\dots$

$(-8) - (+3) = \dots\dots\dots = \dots\dots\dots$

$(+6) + (-9) = \dots\dots\dots = \dots\dots\dots$

$(+6) - (+8) = \dots\dots\dots = \dots\dots\dots$

$(-5) + (+6) = \dots\dots\dots = \dots\dots\dots$

$(-9) - (-7) = \dots\dots\dots = \dots\dots\dots$